Question 26:  What type of marketing information would be most helpful to you?
This question is a little bit problematic because it doesn’t specify whether people should mark just one choice, or if they are free to pick more than one.  As we know, some would pick more than one even if told not to – but then I would know that I should weight their answers.  In this case the wording of the question implies just one choice, but I’m not sure whether to weight or not.

There were 35 survey-takers who chose not to answer this question at all.

There were 58 who marked more than one choice.

There were 116 who marked one choice.

Looking at the sums, I think that people were treating this more as a one-option question than a mark-all-that-apply question, so I’m going to go ahead and weight the choices of those who marked more than one.  Just be aware that because of the question wording, the value of the weighted numbers is a little bit dubious.
Okay.  There were 174 survey-takers who answered this question, so the random-chance number should be 174/4 = 44 votes.
Weighted answers:

Info  

A = 27

Directory
B = 72

Mkt. Price 
C = 66

Other

D =   9

Standard deviation = 30
-1 SD = 14
Random chance number = 44

+1 SD = 74
Oh, drat, the Market Price option and the Directory option both fall within one standard deviation of the random chance number.  

**NOTE added after correcting SDs:  prior to correction, it looked like the Directory option was outside of one SD and the Market Price option was not. Actually with both of them inside, this might be easier to interpret – there were some preferences for these methods, but no clear winner.  

Well, as I said, this question leaves us with difficult data.  You might have had a different pattern of responses if you had said, “Mark only ONE choice.”  Some who marked three might have only marked two, or one, and that would have thrown more weight to the ones they did mark.  

There would have been no advantage to analyzing this as unweighted data.  If we had assumed that people had been asked to mark all that apply, and used unweighted data, then:

· the random chance number would have been 174/2 = 87 for each choice

· the standard deviation would have been 51
· final tallies would have been:

A = 43

B = 98

C = 92

D = 12

So neither B nor C would have been more than one standard deviation greater than 87.  I think the weighted option is the best for this data – it’s just not perfect.

